TIME AND WORK

A—axcb.rds,\ldajjaﬁ work = —-

B — y days, ,daﬂc(—work =1

J
~ o -
Fday (A+B) = &t T x:‘y th

| Y

(A+8) = e clau < M
f oy SO | < % cays
S <y days

(A+6) = % doys
A= N do.‘ds
8 = » Y> L

{1

N

«C

o
L <]

E
ZJ—)L

A = X days, ! dlay

L
P&
J
§
2
L

[

c = 2 doys, ooy = !
FTdoy (At8+C) = L ' +
X

= XY tyz =y th

29 d= =X
Xy =z
So (ARt = Xy 2

——— doys
Xy+ Yy2t2X




L Given 4
b hrs (P+Q+R) = 216 poges

/
I houy R-Q = &-°P

N LA = R+tF N

Q = R+el

/ 1'5!2: 7_{5 _ Ano-(’heY cendrtion C\];Uen‘

to S

P = IS Fo_aeg

/ R = 7(1s) _

= R &S
s P9
QO = l_')_[|g) = IR POESS
1o )
S P &R =S >0 18

. ]
3- (A+8) = % hours = For | howr — =

A= 1+8 hours = —or 1 hour > —
/
B = X-i-%: howe = for | hour —> -

AT

S



b £ —

2 o L
ays  ov g€ hours , 8 bO(l\“S/dQ_‘j ) For | hr — e
80 .
CP+Q) —> 2 s & hours/ day For 1 b
X K8
4 — ,
e RS ™ -
! o (S
.
K] & = *
= s 5 :
]
5 @len A= gvc
| /
A+E = 10 de"ﬂs
cC = 50 dOJjS
8 = 9
© = 60, Fer ;__dmr )
i — GO ~
ldodj(A+3+c) N
" o s8 3%
/
I day (8A) = 3
Qs ‘
'd’o‘{‘f A = i
so
td B = ' _ 3
- ‘e Ere)
l dq,t_’ 8 ~ ?‘r‘ﬁ)
| /
8B= Q¢ dO—‘ds
6 A 15 oy
B — Io dags
’ ldo{js’ &3 th *{-D (QCLUQ
oy (A+8) = L +' = 4
1§ t = )
Rday (A+8) = Ly, = e




- 2 — -
A = ?x.s = vodoiﬁs
.JB_ + ,3:;_ = whole wori
y
(A+8) A alone
/J/ J{ W
>days + iodoys = 12 dcujs
Level - 2
- Given p — 8 hours N
Q@ — 1o hours } (&tR) =
R — {2 hours

p ts closed @ U AM

@ QAM,

i hr(P—{—&"i—R):- -i—+._r_,‘i‘_'~.
8 o [
= 371 th
120
2 A (PH@+ R) = 287 +h
/ Go
Remﬁ‘n}na = 23th by (a+R) only
Ge

- @

©. q.AaM, P s closed @

3. Fast Second

No: of %w{werﬂs 3. ¢
| T,

Onhd 1 %Qme&w.
- X HO

XHO
= Uo days 120 clayys
/%9 L HO R 2! 30 doyg
x +Y (60
s A s
18 days 1 doys

A€Y

O £~

v

s AM o &hrs

—

)~ P\M .

G — 80 days
a_quts .= 80 doHS

! P&vt— = Y0 days

225
RS

n

5 FQH&
{ PG\'M"

1




Pg. Now- 12

Te & Skitted workers = ao doys — 1 <killed

Worley = 20X S

= icoa <
£ ay
» For } da,d — » +
s leo -
& semi ckiied WO - . . : .
Ofker = as dC‘JJS > | Scmi skilfed = axas :.xzz
For ' = A +h _:
ldcuj S on
10 Unskitted wer _ , . ' _
orker = zo dQHS ~— 1 Uunskitled worker = 106X30 =30
<,_‘ Fory | o = L th
N e Em L

Q skited + & sem Skitted + 345 = Onskitled

= 2 (w@s) * () + s (-

200 360 -
6 +a+s i
300 .
= o206 i '
2[00 1 S -



